-~ 8

XYZ,=85.53,90.0, 98.0
A1=25C.(@-a Y
B;=2,5C.Bc(by—byp) Y
El = Zo {(EXC)/Y]

1 =020 (2
ayo=1,byy=-0,4 Gin
X = 0,1108; = 1,000

B1 Parame-|
100 65 éer: D51
Y, , G =25
Y Bhaje; =6

C.=1,00Q0 n=D65
Ca1=(AL+B1?
Name and spectral range o
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470

B
6 optimal colours (0) Y;,y=90, Y\=3,6
6 of maximum (m) Cpg for D65

[-100 max: 490_77(

XYZ,=85.53,90.0, 98.0 Parame-

A2=2,5C;@—ay) Y T 100 ter Y

By=2,5C; B (bz-byp) Y D65, G =25:1
ce i 66 Ahaos2=6

8y = ago [(X=x)/Y]

by =y [2M]

a0 = 1,byy= -0,4 52 41

X = 0,110 B¢ = 0,800 Ar

C.=1,000 n=D65 +

Cap27[A+8,T" 100

Name and spectral range 48 37

Rm 570_770 ¥, 520_770
G 470_570 G, 380_570
Bm 380_520 M, 570_470 23

6 optimal colours (0) Y,,,=90, Y\=3,6
6 of maximum (m) C,g for D65

[-100 max: 490_774

V L o Y M C
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:dnysaji rejwis ass

XYZy=90.0,90.0, 90.0
A1=25C. (@ -a )Y

By =2,5C, B (by ~ by ) Y
g = agg [(x=xo)/Y]

by = byg [zM
ay=1,b,g=-0,4 G
X¢ = 0,110,8; = 1,000

B1 Parame-|

100 ter: N
EO0O, C =25:1
Ym Ahaggy =6

C.=1,000 n=EO0
Cag1=lA+B 1"
Name and spectral rangec,
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 By

6 optimal colours (0) Y;,y=90, Y\=3,6
6 of maximum (m) Cpg for EOO

[-100 max: 490_77(

XYZy=90.0,90.0, 90.0 Parame-

A2=2,5C;@—ay) Y T 100 ter Y

Bo=2,5C, B (b, - by) Y £00, G =251
ce i 65 Ahaog2 =6

3 = g0 [(XX)Y]

b, = byg [zM

ayp=1,byy=-0,4 51 41

%o = 0,110 B, = 0,900 Ar

C.=1,000 n=EO0 +

Cag 2=[A+BS1"? 100

Name and spectral range 48
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 24

6 optimal colours (0) Y,,,=90, Y\=3,6
6 of maximum (m) C,g for EOO

[-100 max: 490_77(

R 570_770 ¥, 520_770
G 470_570 G, 380_570
Bm 380_520 M, 570_470 B

6 optimal colours (0) Yy 1790, Y,

, N.10~
6 of maximum (m) C,g for D50 31'6‘100 max: 495_77(

Rin 570_770 ¥, 520_770
Gy 470_570 G, 380_570
Bm 380 520 M, 570_470 21

6 optimal colours (0) Yy 1290, Y,

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
DES10-1N DES10-2N

XYZ,=86.78 ,90.0 , 74.24 B1 Para’\r‘ne- XYZy=86.78 ,90.0 , 74.24 By Para\;ne-
A1=25C (@ -3 Y T 100 ter: N A;=2,5C;@—ay) Y T 100 terr Y
51 2.5C. B 01 by ¥ Ps0.C =253 |G Z5C B b, b v 50,6 - 251
ay =g [(x-xJh] Y a = [(x-xJh] g8 A2

by =byo [z by = by [2/M]

ayo=1,byp=-0,4 G Rn ay0=1,byp=-0,4 41

Xc = 0,110,B; = 1,000 A X = 0,110,B; = 1,000 Ay
C.=1,00Qn= D50 ; C.=1,000 n=D50 '
Cag 1=IAL+BT 100 Cap =[AF 4B 100
Name and spectral range G Mm Name and spectral range48 39

\ N,10~
6 of maximum (m) C,g for D50 31'6‘100 max: 495_77(

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
DES11-1N DES11-2N

XYZ,=88.26 , 90.0 , 106.4 B1 Parame- XYZ,,=88.26 , 90.0 , 106.4 By Parame-
A;=25Cc@-a )Y Tz00 o0 ter: ’;5_1 Ay=25C@-ay) Y T 100 oo ter: \215_1
By =2,5CBc(by~by ) Y n AhAiBC{ 6 By =25C:Bc (b —by ) Y Ahszéjzr -6
ag =g [(x-X)Y] 8y = a0 [(X-X)Y] 64

by =byo [z G by = by [2/M]

a0= 1,byo = ~0,4 R a30= 1,byo = ~0,4 52 "

Xc = 0,110,B; = 1,000 A Xc = 0,110,B, = 0,700 Ay
C.=1,00Q0 n=C00 } C.=1,00Q0 n=CO00 }
Cag 1=IAL+BT 100 Cag 2=[A+BA? 100
Name and spectral range Name and spectral range 48 37

Rm 570_770 ¥, 520_770Cmi M Rm 570_770 ¥, 520_770

Gm 470_570 G, 380_570
B 380 520 M, 570_470

By
6 optimal colours (0) Y,,y=90, Y\=3,6
6 of maximum (m) Cyg for CO0

[-100 max: 490_77(

Gm 470_570 G, 380_570 A
Bm 380_520 M, 570_470

6 optimal colours (0) Y,,=90, Y\=3,6
6 of maximum (m) Cpg for CO0

[-100 max: 490_77(

NLHTS3A/IS3adep uleq-nylisqe)//

Rm 570_770 ¥, 520_770
Gm470_570 G, 380_570
Bm 380 520 M, 570_470

6 optimal colours (0) Y,=90, Y\=3,6 |
6 of maximum (m) Cyg for P40

[-100 max: 495_77(

Name and spectral range47
Ry 570_770 Y, 520_770
Gm 470 _570 G, 380_570
Bm 380_520 M, 570_470 21

6 optimal colours (0) Y,=90, Y\=3,6
6 of maximum (m) C,g for P40

in chromatc value diagram (A, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DES10-3N DES10-4N
XYZ,,=90.83, 90.0, 58.22 By Parame- XYZ,=90.83, 90.0, 58.22 By Parame-
A1 =25C.@;-a )Y T 100 ter: N Ay =25C.@ -8 Y T 100 ter: Y

! P40, C, =25:1 ! P40, C = 25:1
B1=2,5CBc (by~by ) Y AhA‘lg -6 By=25C:Bc (b by ) Y 68 AhA;BC; =6
8y = agg [(X=X)/y] v 8y = ago [(X=X)1Y]
by =byo [z S by = by [2/M]
0= 1,by=-04 80=1,by=-04 49 42
Xc=0,110B,=1,000 Gn X.=0,110,B, = 1,300 Ao
C=1009n= i C=100gn=pip =
Cag,1=[A1+B1] G Cag,2=[A7 +B7] 100
Name and spectral range 40

[-100 max: 495_774

in chromatc value diagram (A, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
DES11-3N DES11-4N

XYZ,,=91.86,90.0, 72.95 By Parame- XYZ,=91.86,90.0, 72.95 Parame-
A1=25Cc (@ -ay )Y T 100 ter: N A=25C @ -ay) Y T 100 ter Y
By =2,5C;Bc(by=by ) Y Zﬁi; = §5.1 B2 = 25C Bg (b~ by) Y ZES,ZBC; = gs.l
a1 = a0 [(x-X)Y] Ym 8y = a0 [(XX)Y] 67

by =byg [z by = by [2/M]

a0= 1,by0= —0,4 a0= 1,byp= 0,4 42
%.=0,110B8,=1,000 Cm Rnoa, x,=0,1108,= 1,000 Az
C.=1,000 n'= P00 ; C.=1,000 n'= P00 '
CAB‘1=[A12+Biz] 2 100 CAB,z:[A22+322] 2 100

Name and spectral rangeGnl
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 B

6 optimal colours (0) Y,=90, Y\=3,6 |

[-100 max: 495_77(

6 of maximum (m) C,g for POO

Name and spectral range47
Rm 570_770 ¥, 520_770
Gm 470570 G, 380_570
Bm 380 520 M, 570_470

22

6 optimal colours (0) Y,=90, Y\=3,6
6 of maximum (m) C,g for POO

[-100 max: 495_77(

ap°u11}g-NY'1110]00//:dNY 10 SP°UILBG-NY 180 e }//:dRUUOITRWIOUI [B1UYOS)

Gm470_570 G, 380_570
Bm 380520 M, 570_470

6 optimal colours (0) Y;,y=90, Y\=3,6

6 of maximum (m) Cpg for AOO
in chromatc value diagram (A, By)

[-100 max: 500_77(
min: 380_500

Gm 470_570 G, 380_570
B 380_520 M, 570_470

6 optimal colours (0) Y,,,=90, Y\=3,6
6 of maximum (m) C,g for AOO
in chromatic value diagram (A,, B,)

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DES10-5N DES10-6N

XYZ,=98.86 , 89.99 , 32.02 B1 Parame- XYZ,=98.86 , 89.99 , 32.02 By Parame-
A1=2,5C (g —ag) Y T 100 0 ter;gl ) A;=2,5C;(@—ay,) Y w0, o teri\zf )
By = 2.5C; B by ~ by ) ¥ ATz et B, = 25C; B (b b)Y 71 M 28
ag = ag [(x=xo)/y] 2y = ago [(X=x)/Y]

by = by [2)] T b = byo [2/4]

ay=1,byg=-0,4 m ay=1,b,0=-0,4

X¢=0,110,8, = 1,000 Ry A1 X.=0,110B,=2500 46

Co=1,000n=A00 G 4 Co=1,009n= A0O 2 —
Cag=IA+B T o ™ 100 Cag27[A+B,T" 43 100
Name and spectral range Name and spectral ranggs

Rm 570_770 ¥, 520_770 Bm Rm 570_770 ¥, 520_770

=100 max: 500_77(
min: 380_500

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DES11-5N DES11-6N

XYZ,=88.13, 90.0, 107.05 B1 Parame- XYZ,=88.13,90.0 , 107.05 Parame-
A1=25C (g ~ag ) Y 100 ter: N Ar=25C @ -2 Y T100 er Y
By = 2,5C, By (by - by ) ¥ T B2=2,5C; B (b~ by,) Y B 85
ag = ag [(x=xo)/y] 8y = ago [(X=x)/Y] 66

by = o [2] Gnn by =bao [z

ay=1,byy=-0,4 Rn ay=1,b=-04 52 41
X¢=0,110,8, = 1,000 Ay X = 0,110, = 0,700 Ao
C.=1,000n=Q00 + C.=1,000 n=Q00 +
Cpp 1=IA+BAY? 100 Cp 2= IAS+BAY? 100
Name and spectral range Name and spectral range 48 37

R 570_770 ¥, 520_770% M Rm 570_770 ¥, 520_770

Gm470_570 G, 380_570
Bm 380520 M, 570_470

6 optimal colours (0) Y,,=90, YN:3‘,3g‘
6 of maximum (m) Cpg for Q00
in chromatc value diagram (A, By)

DES10-7N

DES10-8N

=100 max: 490_77(
min: 380_490

G 470_570 G, 380_570
Bm 380 520 M, 570_470 23

6 optimal colours (0) Y,,=90, Y\=3,6
6 of maximum (m) Cg for Q00
in chromatic value diagram (A,, B,)

[-100 max: 490_77(
min: 380_490

DES11-7N

DES11-8N

TUB-test chart DES1; TUB-Relativity model of colour vision, chromatic valu€stivaldcolours

for adaptation to 8 illuminants: D65, D50, P40, AOO, EQO, C00, P00, @Q6R5:1, dhaxgx=6
C M Y (o] L

Vv

ndino jund 1o Ae|dsip Jo Juswainseaw pue uoleneAs 1o} uoneoldde

Sd'/ 4dd'dN0T1TS3A/TS3A-1020220¢ -uoiensifal gn L

3P0 :ellsrew gN L

J|

-6




